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Problem quickname: 8703

1
Fill in the missing numbers.

a) 416 + 80 = 496 b) 837 + 60 = 897
d) 617 + 80 = 697 e) 414 + 60 = 474
g) 716 + 50 = 766 h) 429 + 40 = 469
i) 459 + 20 = 479

2)
Fill in the missing numbers.

a) 645 + 50 = 695 b) 716 + 10 = 726
d) 216 + 30 = 246 e) 829 + 40 = 869
g) 317 + 80 = 397 h) 559 + 20 = 579
j) 734+ 40 = 774

3)

Fill in the missing numbers.

¢) 815 + 70 = 885
f) 821 4+ 10 = 831
i) 819 -+ 80 = 899

¢) 713 + 60 = 773
£) 215 4 10 = 225
i) 314 + 80 = 394

a) 20 + 6 = 26 b) 10+ 5 =15 )20+ 3 =23 d) 40 +
) T0+4 =74 £) 50+ 1 = 51 g) 70 + 6 = 76 h) 30 +
i)

60 + 3 = 63 i) 80 + 8 = 88
4)

Fill in the missing numbers.

a) 1030 + 3 = 1033 b) 3010 + 2 = 3012
d) 6180 + 5 = 6185 e) 6530 + 4 = 6534
g) 8220 + 4 = 8224 h) 5580 4+ 3 = 5583

j) 6370 +5 = 6375
Good Luck!
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¢) 5120 + 9 = 5129
£) 7950 + 5 = 7955
i) 4810 + 2 = 4812
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